Minutes of the meeting of the 3rd Central-Grant-in-Aid Committee for the Centrally Sponsored Scheme for Infrastructure Development Private Aided/Unaided Minority Institutes (Elementary Secondary/Senior Secondary Schools) (IDMI) for the year 2012-13 to be held on 26.09.2012 at 10.00 a.m. under the Chairpersonship of Secretary (School Education & Literacy).

The third meeting of the Central Grant-in-Aid Committee (GIAC) for considering proposals under the Scheme for Infrastructure Development Private Aided/Unaided Minority Institutes (Elementary Secondary/Senior Secondary Schools) (IDMI) was held on 26.09.2012 at 10.00 a.m. under the Chairpersonship of Secretary, School Education & Literacy. A list of participants is attached at **Annexure 1**. Shri Virender Singh, Deputy Secretary, Department of School Education & Literacy welcomed the participants and presented the agenda for discussion and consideration of the Central GIAC.

Agenda 1: Confirmation of the minutes of the meeting held on 03.08.2012.

The Committee confirmed the minutes of the meeting held on 03.08.2012 as no objection was received.

Agenda 2: Action Taken Report (ATR) on the minutes of the meeting held on 03.08.2012.

Action taken report was noted by the Committee.

Agenda 3: Budget provision and proposals for consideration of Central GIAC under IDMI.

The Committee also noted the budget provision under IDMI for the year 2012-13 as under:

(Rs. in lakh)

State	UTs	NER				
Total = 4498.00	Total = 01.00	Total = 501.00				
Grand Total = 5000.00						

The Committee was informed that out of the allocated budget of Rs. 50 crore an amount of Rs 15.34 crore has been released and the release of Rs 1.25 crore for Mizoram is under process. A sum of Rs 33.40 crore is balance available.

Agenda 4: Proposals for consideration of Central GIAC

Proposals received from Sikkim, Maharashtra, Mizoram and Uttarakhand were placed before the Central GIAC for consideration. The Committee examined all proposals in details and decided as follows:

(1) SIKKIM

A total of 14 proposals were received from State Government of Sikkim under IDMI scheme. State Government has informed that all institutions proposed have been accorded minority status. However, the Committee requested the State to furnish certificate in respect of each of the approved proposals. The Committee examined all proposals in details in light of the available infrastructure, enrollment of student and the rational requirement of additional infrastructure. The Committee approved the following proposals subject to the condition that the State furnish certificates establishing that the institutes have been accorded minority status.

S. No	Name of the Voluntary Organisation	Children Enrolment	Infrastructure approved / unit cost @ Rs. 03.00 lakh	Total Amount as per proposal (Rs. in lakh)	75% of the proposed amount (restricted to a maximum of Rs. 50.00 lakh)	50% amount to be released as 1st instalment (Rs. in lakh)	Remarks
1	St. Joseph's Upper Primary School, Mangan, North Sikkim - 737116	Total-1198 Girls - 279	4 classrooms	12.00	09.00	04.50	
2	Ideal Nursery School (Primary), Mangan, North Sikkim	Total -49 Girls -19	2 classrooms	06.00	04.50	02.25	As no
3	Nadey Nadak Sinchit Monastic Primary School, Mangan, North Sikkim	Boys 98 only	3 classroom	09.00	06.75	03.37	break-up of the cost is given in the proposal the same
4	Moonlight School (Primary), Chungthang, North Sikkim - 737120	Girls - 140	4 classrooms	12.00	09.00	04.50	has been fixed on the basis of unit cost
5	Paramount English School (Primary level), Himalayan Educational Society, Timi, South Sikkim.	Total - 79 Girls - 43	2 classrooms	06.00	04.50	02.25	approved under SSA
6	Kids Foundation Primary School, Swayem, North Sikkim, Mutanchi Lom Al Shezum, North	Total - 97	4 classroom	12.00	09.00	04.50	
			TOTAL:	57.00	42.75	21.37	

(2) MAHARASHTRA

Government of Maharashtra had forwarded a list of 27 proposals which were earlier submitted to the Ministry for consideration under IDMI scheme. Out of the 27 proposals, details were available only in respect of 21 proposals which were placed before the Central GIAC.

The Central GIAC examined all the proposals in light of the available infrastructure, enrollment of students and rational requirement of additional infrastructure, and approved the following 10 proposals:

S. No	Name of the Institutes	Children Enrolment	Infrastructure approved	Total Amount as per proposal	75% of the proposed amount (restricted to a maximum of Rs. 50.00 lakh)	50% amount to be released as 1st installment	Purpose
1	Azad Education Society, Miraj 5883, High School Road, Miraj Miraj-416410, Dist Sangli. "Jawahar Mula- Mula-Mulinchi Urdu Prathamic Shala, Jahaniyasab Dargah, Shastri Chowk, Miraj 416410. Dist. Sanglii	327	02 classroom (unit cost @ Rs. 4.50 lakh)	09.00	06.75	03.38	As no break-up of the
2	The Lasalgaon National Education Society, Lasalgaon Tal. Niphad, Dist. Nasik. "National Urdu High School Bazar Tab, Lasalgaon, Tal. Niphad Dist. Nasik (MS).	502	5 classrooms (unit cost @ Rs. 4.50 lakh)	22.50	16.88	08.44	cost is given in the proposal the same has been fixed on the basis of unit cost approved under
3	Priyadarshani shikshan Prasarak mandal Bori Tq. Dist: latur. "Nargis Antuale Urdu Primary School" Bori Tq. Dist: latur.	281	6 classrooms (unit cost @ Rs. 4.50 lakh)	27.00	20.25	10.13	SSA
4	Muslam Education Society. Dapoli. National high school & Jr. college Dapoli Diist: Ratnagiri	821	3 classrooms (unit cost @ Rs. 4.50 lakh)	13.50	10.13	05.06	

S. No	Name of the Institutes	Children Enrolment	Infrastructure approved	Total Amount as per proposal	75% of the proposed amount (restricted to a maximum of Rs. 50.00 lakh)	50% amount to be released as 1st installment	Purpose
5	Dyan sagar Education socity Latur. Hanuman Sec.&Higher Sec. School Ghargaon Tq. Kallab Dist; Osmanabad	406	2 classrooms (unit cost @ Rs. 4.50 lakh)	09.00	06.75	03.38	
6	Hindustani Education society, Ausa Dist: Latur Azeem High School & Jr. college , Ausa Dist: Latur	1062	4 classrooms (unit cost @ Rs. 4.50 lakh)	18.00	13.50	06.75	
7	Shard Gramin vikas Bhauuddeshiya Shikashan Sanastha, Deolo Dist Wardha. "Bharatratna, Rajiv Gandhi Uccha primary School. Deoli Dist - Wardha At. Post Tah. Deoli "MadhyaMik Vidhylaya, Deoli, Dist. Wardha At. Post Deoli, Tq.Deoli Dist Wardha."	372	3 classrooms (unit cost @ Rs. 3.38 lakh)	10.14	07.61	03.80	Unit cost derived from the proposed cost under the proposal
8	Iqra Education Society Jalgaon Iqra Urdu High School, Jalgaon.	688	5 classrooms (unit cost @ Rs. 3.82 lakh)	19.10	14.33	07.16	Unit cost derived from the proposed cost under the proposal
9	Friend Education Society, Tq. Ner Parsopant Dist. Yavatmal Pin 445102" Priyadarshani Urdu High School Navabpura Ner Parsopant Tq. Ner Parsopant Dist. Yavatmal"	239	2 classrooms (unit cost @ Rs. 5.61 lakh)	11.24	08.43	04.22	Unit cost derived from the proposed cost under the proposal
10	Shushant Shikshan Sanskar Sansta Bhilewada Post- Kardha Tah-Dist- Bhandara. "Sanjay Gandhi High School	987	4 classrooms (unit cost @ Rs. 4.50 lakh)	18.00	13.50	06.75	As no break-up of the cost is given in the proposal

S. No	Name of the Institutes	Children Enrolment	Infrastructure approved	Total Amount as per proposal	75% of the proposed amount (restricted to a maximum of Rs. 50.00 lakh)	50% amount to be released as 1st installment	Purpose
	& Jr. College Tedha Post-Tedha Tah- goregaon Dist- Gondia".						the same has been fixed on the basis of unit cost approved under SSA
	TOTAL:			157.48	118.13	59.07	

(3) UTTARAKHAND

A total of 9 proposals were received from Government of Uttarakhand under IDMI scheme. The Central GIAC examined all the proposals in light of the available infrastructure, enrollment of students and rational requirement of additional infrastructure, and approved the following 04 proposals:

1/4#i, yk[kksa esa1/2

Ø - la -	laLFkk @fo ky; dk uke	cPpk sa dk ukek adu	Lohd`r f"k{kk d{k @ bdkbZ ewY;	izLrk oksa ds vuqlk j dqy /kujkf "k	izLrkfo r jkf"k dk 75 izfr"kr ½vf/kd re izfrcaf/ kr #i, 50-00 yk[k½	igyh fd"r ds fy, 50 izfr"k r /kujkf "k	fVli.kh
1	enjlk ejdtqy c'kkjfry bLykeh xzke HkqMMh] nsgjknwuA	600	03 dejs ¼#i, 2-20 yk[k½	06-60	04-95	02-48	bdkbZ ewY;] loZ f"k{kk vfHk;ku ds varxZr Lohd`r bdkbZ ewY; ds vuqlkj fu/kkZfjr
2	laLFkk Qkfrek tw0gk0 Ldwy] ef[k;kyh dyka] ydlj]gfj}kj	267	02 dejs ¼#i, 2-20 yk[k½	04-40	03-30	01-65	bdkbZ ewY;] loZ f"k{kk vfHk;ku ds varxZr Lohd`r bdkbZ ewY; ds vuqlkj fu/kkZfjr
3	enjlk e[new c["k tkde;k bLykfe;k] lksr :Mdh&	538	04 dejs ¼#i, 2-95 yk[k½	11-80	08-85	04-43	bdkbZ ewY; izLrkoksa ds vuqlkj fu/kkZfjr

Ø - la -	laLFkk @fo ky; dk uke	cPpk sa dk ukek adu	Lohd`r f"k{kk d{k @ bdkbZ ewY;	izLrk oksa ds vuqlk j dqy /kujkf "k	izLrkfo r jkf"k dk 75 izfr"kr ¼vf/kd re izfrcaf/ kr #i, 50-00 yk[k½	igyh fd"r ds fy, 50 izfr"k r /kujkf "k	fVli.kh
	gfj}kj						
4	,l- vkj- bLykfe;k Ldwy] tliwj] ftyk & m/keflag uxj	384	03 dejs ¼#i, 2-59 yk[k½	07-76	05-83	02-91	bdkbZ ewY; izLrkoksa ds vuqlkj fu/kkZfjr
	dqy jkf'k%			30-56	22-93	11-47	

(4) MIZORAM

A total of 10 proposals have been received from State Government of Mizoram under IDMI scheme. The committee noted that most of the institutions have sufficient infrastructure available. In light of the available infrastructure, enrollment of students and rational requirement of additional infrastructure, Central GIAC examined all the proposals and approved the following 02 proposals:

S. No	Name of the Voluntary Organisation	Children Enrolment	Infrastructure approved / unit cost @ Rs. 5.00 lakh	Total Amount as per proposal	75% of the proposed amount (restricted to a maximum of Rs. 50.00 lakh)	50% amount to be released as 1st installment	Remarks	
1	New Diamond Middle School, District Mamit	199	02 classrooms	10.00	07.50	03.75	As no break-up of the	
2	1st Bn. MAP English Medium School, Armed Veng,, District Aizawl.	486	02 classrooms.	10.00	07.50	03.75	or the cost is given in the proposal the same has been fixed on the basis of unit cost approved under SSA	
			TOTAL:	20.00	15.00	07.50		

The committee was also informed that the proposals received from Uttar Pradesh and Madhya Pradesh could not be placed for consideration as these proposals were received very late and the sufficient details were also not furnished. These

proposals would be placed in the next Central GIAC meeting if all necessary details are furnished by the States.

 $The \ meeting \ ended \ with \ a \ word \ of \ thanks \ to \ the \ chair.$